Assembly Instructi

sse nstruction
Parker 0 Item No: DAME#48RND
a}iuglzlmggse Description : DINING TABLE 48 IN,. ROUND TO 66IN (18 IN LEAF)




FURNITURE

Assembly Instruction

Parker 1 Iltem No: DAME#48RND
arker HOoUS€  pogeription : DINING TABLE 48 IN,. ROUND TO 661N (18 IN LEAF)

HARDWARE LIST

No Description Sketch | QTY E | Wrench @5/16 —2| 1PC
F | Hex Nut @5/16 x 12mm 8PCS
A | Allen Wrench 4mm ) 1PC
8PCS
B | Bolt @5/16x40mm Quam | 10PCs | | © | Halfmoon Washer N
C | Lock Washer @5/16x12mm| <> |10pcs | | H | Bolt@5/16 x 83mm % 8PCS
D | Flat Washer @5/16x19mm @ 10PCS
PARTS LIST
TABLE TOP (1PC) LEAF (1PC) MOUNTING PLATE (1PC) LEG (4PCS)
@ @ ©) @
Q

~

SHORT UPPER
STRETCHER (1PC)

SHORT BOTTOM
STRETCHER (1PC)

LONG UPPER
STRETCHER (1PC)

LONG BOTTOM
STRETCHER (1PC)

®

®

@

Page 2 of 5




Assembly Instruction

Item No: DAME#48RND

Parker HOUSe  pyoq:ription : DINING TABLE 48 IN,. ROUND TO 661N (18 IN LEAF)
FURNITURE

Page 3 of 5




Assembly Instruction

Item No: DAME#48RND

Parker HOUSe  pyoq:ription : DINING TABLE 48 IN,. ROUND TO 661N (18 IN LEAF)
FURNITURE

(==—t——%+

Page 4 of 5




Assembly Instruction

Parker 1 Iltem No: DAME#48RND
aLU(:LITUCF:gse Description : DINING TABLE 48 IN,. ROUND TO 66IN (18 IN LEAF)

Page 5 of 5




	AI PH-325 2021-03-15 Model (1)
	AI PH-325 2021-03-15 Model (1)
	AI PH-325 2021-03-15 Model (1)
	AI PH-325 2021-03-15 Model (1)
	AI PH-325 2021-03-15 Model (1)

